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Q1

Select the Venn diagram that best illustrates the relationship between the following classes:

Girls, Students, Hockey players
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Question ID : 8161613855
Status : Answered
Chosen Option : 2

Q2 Arrange the following terms in a logical and meaningful sequence.

—_

. Physician

I3

. Diagnosis

3. Disease

4. Recovery

5. Prescription
Ans X 1. 3-1-5-2-4
X 2 1-3-2-5-4
X 3. 2-3-1-4-5
W4 3-1-2-54

Question ID : 8161613812
Status : Answered
Chosen Option : 4
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Q.3 Ina certain code language, if SHOULDER is written as SIQXOFFR, how will PLEADING be written in the same code
language?

Ans X 1. PMGDHNTG
v 2. PMGDGKOG
< 3. PELDANIG
< 4. PNIDAELG

Question ID : 8161613825
Status : Not Answered
Chosen Option : --

Q.4 If- means multiplication, — means addition, X means division and < means subtraction, then which of the following
equations is correct?

Ans X' 1.8 -4 X 6-84+4 =28
v28+4+6-8x4=28
X38+4%x6-8=<4=28
X4+8+4=-6+8-4=28

Question ID : 8161613845
Status : Answered
Chosen Option : 2

Q.5 IfALMIRAH is coded as 63 and TABLE is coded as 41, then how will TELEVISION be coded?
Ans X 1. 130

< 2 129

V'3 131

X4 132

Question ID : 8161613827
Status : Not Answered
Chosen Option : --

Q6 ‘Shoes’ is related to ‘Leather’ in the same way as ‘Sack’ is related to = .
Ans X 1. Flax

v 2 Jute

5 3. Pulp

#< 4. Fleece

Question ID : 8161613817
Status : Answered
Chosen Option : 2
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Q.7 Select the option that is related to the third term in the same way as the second term is related to the first term.

RBBIT : BRCTI :: TABLE :
Ans X 1. ATAET
v 2. ATCEL
#< 3. ELBAT
< 4 BTAEL

Question ID : 8161613821
Status : Answered
Chosen Option : 2

Q.8 Identify the option in which the given figure is embedded (rotation is NOT applicable).

X 2.

< 3.

Question ID : 8161613849
Status : Answered
Chosen Option : 1

Q.9 Twenty-one students of a class were seated in a row. Ritik was 7th from the front. What is his position from the end?

Ans  of 1. 15th
X 2. 16th
< 3. 14th
< 4 13th

Question ID : 8161613834
Status : Answered
Chosen Option : 1

Q.10 Select the option that is related to the third number in the same way as the second number is related to the first number.
8:24::6:7
Ans  of 1. 18
x23
<38
K412

Question ID : 8161613843
Status : Answered
Chosen Option : 1

https://ssc.digialm.com//per/g 27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702093/220702093S6D40989/16077820584682412/3007300674 ...  3/53



12/27/2020 https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//220702093/220702093S6D 40989/16077820584682412/. ...

Q.11 Identify the option in which the given figure is embedded (rotation is NOT applicable).

Question ID : 8161613851
Status : Answered
Chosen Option : 3

Q12 Ava’s mother is the only daughter of Emma’s father. How is Emma’s husband related to Ava?
Ans  of 1. Father

#< 2. Brother

/< 3. Nephew

#< 4. Son

Question ID : 8161613832
Status : Answered
Chosen Option : 3

Q13 Which letter will replace the question mark (?) in the following series?

V,S,P, M, ?

Ans X' 1. K
K2 L
VAR |
X4l

Question ID : 8161613806
Status : Answered
Chosen Option : 3
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Q.14 Select the word-pair in which the two words are related in the same way as are the two words in the following pair.

Gratitude : Obligation

Ans  of 1. Affection : Fondness
7< 2. Smart : Loveable
7< 3. Hopeless : Coward

75 4. Viable : Useful

Question ID : 8161613819
Status : Answered
Chosen Option : 1

Q.15 Arrange the following words in a sequence as they would appear in an English dictionary.

-

. Accept
. Acceptance

(2]

. Acceptable
. Accepting
. Accepted

Ans  of 1 1-3-2-5-4
X 2. 1-2-3-5-4
X 3. 3-1-2-4-5
K 4 2-3-1-5-4

oo ks W

Question ID : 8161613811
Status : Answered
Chosen Option : 1

Q.16 Select the correct sequence of mathematical signs to replace the * signs to balance the given
equation.

12%4*2*8%3=25

Ans x1.><+_+
XZ. W=
o Y N

“4. + 4+ x

Question ID : 8161613844
Status : Answered
Chosen Option : 4

Q.17 Select the option in which the number-pair shares the same relationship as that shared by the following mumber-

-
50:82

Ans 1. 6582
v 2 122: 170
< 3. 25:49
< 4.80: 120

Question ID : 8161613840
Status : Not Answered
Chosen Option : ==
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Q.18 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the
first letter-cluster.

ANIMAL : ZMRNZO :: PLANTS : ?

Ans X 1. KOZGMH
v 2. KOZMGH
< 3. KZOGMH
# 4. KOZHMG

Question ID : 8161613820
Status : Answered
Chosen Option : 2

Q.19 Two statements are given followed by twea conclusions numbered I and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements?

Statements:

1. Some bats are crows.
2. Some crows are eagles.

Conclusions:

1. Some bats are eagles.
II. No eagle is a bat.

Ans  of 1. Neither conclusion I nor II follows

7< 2. Only conclusion II follows
7< 3. Only conclusion I follows

7< 4. Both conclusions I and II follow

r Question ID : 8161613829
| Status : Answered

L Chosen Option : 3

Q20 Which letter will replace the question mark (?) in the following series?

CEJO2B
Ans X' 1. T
M 2.y
<3 s
ViU

Question ID : 8161613807
Status : Answered
Chosen Option : 4

Q.21 Six people were seated on a round table facing each other in a way that U, Y and Z were in a sequence. U was seated to
the left of Y but to the right of Z. V was just oppesite to U, but to the left of X and to the right of W. Who was seated
exactly in front of Y?

Ans X' 1. C
X2z
X3 F
v X

Question ID : 8161613835
Status : Not Answered
Chosen Option : ==
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Q.22 Select the option in which the numbers are related in the same way as are the numbers in the given set.

(192, 384, 576)

Ans 1. (220, 437, 650)
X 2. (272, 545, 820)
7 3. (121, 242, 361)
W 4 (327, 654, 981)

Question ID : 8161613842
Status : Answered
Chosen Option : 3

Q23 Aprange the following terms in a logical and meaningful sequence.

1. Neonate

2. Foetus
3. Embryo
4. Infant

5. Zygote

Ans X' 1. 2-3-5-1-4
X 2.5-2-3-4-1
Vs 53-2-1-4
X 4. 1-5-2-3-4

Question ID : 8161613813
Status : Answered
Chosen Option : 1

Q.24 Which letter cluster will replace the question mark (?) in the following letter series?
HIN, JLP, LNR, ?
Ans  of 1. NPT
75 2. LNQ
/< 3. LPR
/< 4. NQS

Question ID : 8161613808
Status : Answered
Chosen Option : 1
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Q25 Arrange the following terms in a logical and meaningful sequence.

1. Venus
2. Saturn
3. Mercury
4, Neptune
5. Mars

Ans X 1. 5.3-1-2-4
X 2 53-1-4-2
X 3.3-54-1-2
v 3.5-1-4-2

Question ID : 8161613814
Status : Not Answered
Chosen Option : --

Q26 Which number will replace the question mark (?) in the following series?
140, 136, 127, 2, 86.
Ans X 1. 98
X272
X< 397
Va1l

Question ID : 8161613837
Status : Not Answered

Chosen Option : ==

Q27 ‘Lion’ is related to *Cub’ in the same way as ‘Cow” isrelatedto .
Ans X 1. Buck

& 2. Kid

/< 3. Puppy

v 4 calf

Question ID : 8161613815
Status : Not Answered
Chosen Option : ==

Q.28 Select the option in which the number-pair shares the same relationship as that shared by the following number-

pair.
35:48

Ans X' 1. 24:28
v 2 63:80
75 3. 17:49
/<4 48:72

Question ID : 8161613839
Status : Not Answered
Chosen Option : --
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Q.29 Which letter cluster will replace the question mark (?) in the following letter series?
WQMK. QKGE. KEAY, ?
Ans X 1. AUQO
v 2. EYUS
X 3. EZVS
X 4. EYUR

Question ID : 8161613810
Status : Not Answered
Chosen Option : ==

Q.30 Select the Venn diagram that best illustrates the relationship between the following classes:

Men, Boxers, Women

e
O

ned
X?».
X4-@

Question ID : 8161613854
Status : Not Answered
Chosen Option : --

Q31 Which number will replace the question mark (?) in the following series?

6, 10, 18, 34, 66, 7
Ans X 1. 126

2 130

<3 128

X 4132

Question ID : 8161613836
Status : Not Answered

Chosen Option : ==
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Q.32 Four positions of the same dice are given. Identify the number at the bottom when 6 is at the top.
@ @
s of 13

X2 1
<35
<44

Question ID : 8161613848
Status : Not Answered
Chosen Option : ==

Q.33 Inacertain code language, if ADEQUATE is written as QEDAETAU, how will TRIANGLE be written in the same
code language?

Ans o 1. AIRTELGN
< 2. RTAIGNEL
X 3. EAIRLGNT
& 4 IRTAELGN

Question ID : 8161613824
Status : Not Answered
Chosen Option : ==

Q.34 Two statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements?

Statements:

1. All dogs are cats.
2. All cats are cows.

Conclusions:

I. Some cows are dogs.
II. All dogs are cows.

Ans X 1. Only conclusion I follows

+ 2. Both conclusions T and II follow
7< 3. Only conclusion II follows

7< 4. Neither conclusion I nor II follows

Question ID : 8161613828
Status : Not Answered
Chosen Option : --

Q.35 Geetansh started walking towards the north from his house, and then he took a right turn and walked a while. From

there, he took a left turn and walked a while, and finally he took a right turn to reach his school. Which direction was he
facing at last?

Ans X 1. South
v 2. East

< 3. North
< 4. West

Question ID : 8161613830
Status : Not Answered
Chosen Option : ==
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Q.36 Select the word-pair in which the two words are related in the same way as are the two words in the following pair.

Psychology : Mind
Ans 1. Geology : Soil
+ 2. Entomology : Insects
< 3. Anthropology : Society
< 4. Physiology : Disease

Question ID : 8161613818
Status : Not Answered
Chosen Option : --

Q.37 Pointing to a photograph. Jatin said, "His grandfather has only one child and he is the only child of my grandfather's
son." Whose photograph is Jatin pointing to?

Ans  of 1. Self
< 2. Father

7< 3. First cousin
7< 4. Brother

Question ID : 8161613833
Status : Not Answered
Chosen Option : ==

Q.38 A paper is folded (Fig. P and Q) and cut (Fig. R) as shown. How will the paper appear when unfolded?

22 a R :
Ans [9]
o O
X< 1.
O oﬂ
Og O
X2 |9 4
o o
‘,3 ho U
: o
o 050
~ 0O
0" [
/4|0
I:IDEU

Question ID : 8161613853
Status : Not Answered
Chosen Option : --

Q39 If TOMATO is coded as 78, then how will CABBAGE be coded?
Ans X 1. 20

< 2. 166

X321

v 4 168

Question ID : 8161613826
Status : Not Answered

Chosen Option : --
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Q.40 Select the option that is related to the third term in the same way as the second term is related to the first term.

LANGUAGE : ALOHVBEG :: TELEPHONE :
Ans X 1. ETOHPELEN
v 2. ETMFQIPEN

/< 3. ETPELOHEN
/< 4. ETELHPOEN

Question ID : 8161613823
Status : Not Answered
Chosen Option : --

Q41 ‘Ostrich’ is related to ‘Bird’ in the same way as ‘Rat’ is related to *
Ans X 1. Rattus

/< 2. Reptiles

#< 3. Invertebrate

v 4. Rodent

Question ID : 8161613816
Status : Not Answered
Chosen Option : ==

Q.42 Ranjan wants to fix barbed wire around his hexagon-shaped field. He erected 88 pillars on each side of the field. How
many pillars did he use in total?

Ans X 1. 524
W2 522
< 3. 528
X 4. 526

Question ID : 8161613847
Status : Not Answered

Chosen Option : ==

Q.43 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

aPge

Question ID : 8161613852
Status : Not Answered
Chosen Option : --
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Q.44 Identify the option in which the given figure is embedded (rotation is NOT applicable).

9 58 &%)

<

w
=]
o

|

Q.45 Which letter cluster will replace the question mark (?) in the following letter series?
TVAIL JLQY, ZBGO, ?
Ans  of 1. PRWE
/< 2. QSXF
< 3. QSVD
< 4. PRVD

Question ID : 8161613850

Status : Not Answered

Chosen Option : ==

Question ID : 8161613809

Status : Not Answered

Chosen Option : --

Q.46 Select the option that is related to the third term in the same way as the second term is related to the first term.

TEACHER : TEHCAER :: SUPERIOR :
Ans X 1. SUEPIROR
v 2. SUIREPOR
# 3. SEPUOIRR
#< 4. SPUREOIR

Question ID : 8161613822

Status : Not Answered

Chosen Option : --
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Q47 Which number will replace the question mark (?) in the following series?

24,60, 120, 210, ?
Ans X' 1300
< 2. 345

W 3 336
< 4. 342

Question ID : 8161613838
Status : Not Answered
Chosen Option : --

Q.48 Rohan is 6 years elder to Komal. Four years ago, he was four times as old as Komal. How old is Rohan now?

Ans  of 1. 12 years
7< 2. 8 years
7< 3. 10 years
75 4. 14 years

Question ID : 8161613846
Status : Not Answered
Chosen Option : ==

Q.49 Select the option in which the number-pair shares the same relationship as that shared by the following number-pair.

512:125

Ans  of 1.720:216
< 2.343:216
<3441 :324

7 4. 1331 : 1000

Question ID : 8161613841
Status : Not Answered
Chosen Option : --

Q.50 Raveena travels to her office on scooter. She travels 2 km straight from her house, and then takes a left turn and travels
2 km. From there, she takes a left turn and travels 6 kim. and then again turns left and travels 5 km to reach the office.
How much distance would she have to travel if there were a straight road between her house and the office?

Ans X 1. 6 km
v 2 5km
X 3 3km
X 4 4km

Question ID : 8161613831
Status : Not Answered
Chosen Option : --

Section : General Awareness
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Q.1 Becquerelis the unit of measurement of
Ans J 1. radioactivity

X 2. conductivity
X 3. resistivity
X 4. velocity

Question ID : 8161613869
Status : Answered
Chosen Option : 1

Q.2 ﬁwﬂzmsﬁ fay siftir Aeht woiwht (wADA) g1 Frafafeaa & 9 fora 3 S ur, waft
B STETSTI § YT O R IR AT BT Wirae S T 412
Ans X1.§aﬁ

5 2. ORI

W 3.9
< 4. fpefidi

Question ID : 8161613905
Status : Answered
Chosen Option : 3

Q.3 The type of bar-code that comprises a printed square pattern of small black and white
squares and that can be scanned into a computer system is known as:

Ans o 1.QR Code
< 2.TR Code
5 3.PR Code
7< 4.CR Code

Question ID : 8161613857
Status : Answered
Chosen Option : 1

Q.4 'StrandHogg’' which was in the news in December 2019, is a/an:
Ans X 1_Satellite launched by NASA

X 2. Anti-virus software developed by Micros oft
x 3. Super-sonic missile of Israel

\f 4. Malware of Android operating systems

Question ID : 8161613875
Status : Not Answered
Chosen Option : --

Q.5 Which of the following is the most ductile metal?
Ans X 1 Zinc

o 2. cold
< 3. Nickel
x 4. lron

Question ID : 8161613881
Status : Answered
Chosen Option : 2
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Q.6 YUH-ZATNGT A 3RTH B fHH Iy A sl 82
Ans  off 1. SRUTET TR

75 2. 99y
X 3. feiR|
5 4. Fofaew

Question ID : 8161613889
Status : Answered
Chosen Option : 3

Q.7 Which of the following antibiotics was the first one to be discovered?
Ans X" 1. Chloramphenicols

J 2. Penicillin
x 3. Imipenem
x 4. Cephalosporins

Question ID : 8161613867
Status : Not Answered
Chosen Option : ==

Q.8 Which of the following tests is done to diagnose AIDS?
Ans 3 1 Typhidot test

x 2. Amniocentesis

W 3.ELisA

5 4. Widal test

Question ID : 8161613880
Status : Answered
Chosen Option : 4

Q.9 In which of the following states are Sundari trees mainly found?
Ans X' 1. Tamil Nadu

x 2.Goa
x 3. Kerala

J 4. West Bengal

Question ID : 8161613885
Status : Answered
Chosen Option : 4

Q10 FafafEa # 3 P yra & afaum § Gifas sda s o § yHhas 78 o mr ge
Ans X 1. Ef3u &1 Urad

W 2. F F1 YT
5 3. GrdaIfe Hufty &t gram
25 4. RT P ST BT 38T

Question ID : 8161613900
Status : Answered
Chosen Option : 3
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Q.11 Who among the following is known as the 'Birdman of India'?
Ans X 1.SP Godrej

x 2. Anupam Mishra

o 3.salim A

5 4.MC Mehta

Question ID : 8161613884
Status : Not Answered
Chosen Option : --

Q.12 Which among the following personalities is NOT a recipient of the Padma Vibhushan
award in 20207

Ans x 1. MC Mary Kom
« 2. Manoj Das
x 3. Anerood Jugnauth

Z< 4.Chhannulal Mishra

Question ID : 8161613897
Status : Answered
Chosen Option : 2

Q.13 A condition characterised by abnormal increase in the number of red cells in the
circulatory blood is called:

Ans J 1. polycythaemia

x 2.anaemia
x 3. leucopenia
x 4. haemophilia

Question ID : 8161613879
Status : Answered
Chosen Option : 4

Q.14 In the context of Mughal administration, the term ‘zabt' stood for:
Ans x 1. silver coins

x 2. cavalry unit
x 3. copper coins
\f 4.revenue system

Question ID : 8161613893
Status : Answered
Chosen Option : 4

Q.15 Among the colours of a rainbow, which one has the longest wavelength?
Ans X 1. Green

x 2.0Orange
o 3.Red
5 4. Yellow

Question ID : 8161613883
Status : Answered
Chosen Option : 3
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Q.16 In the acronym LAN, a system of computer networking, the letter ‘L' stands for:
Ans x 1. Least

x 2. Lower
x 3. Level
\f 4. Local

Question ID : 8161613856
Status : Answered
Chosen Option : 4

Q.17 In which of the following groups has Cyrus Mistry served as the Chairman?
Ans X 1 Wipro

x 2. Infosys

x 3. Reliance Industries

‘f 4. Tata Sons

Question ID : 8161613864
Status : Answered
Chosen Option : 4

Q.18 As per census 2011, which of the following Indian states has the highest proportion of
Scheduled Tribes in its population?

Ans X' 1. Maharashtra
< 2. Tripura
o 3. Mizoram
x 4. Assam

Question ID : 8161613887
Status : Answered
Chosen Option : 4

Q.19 Which among the following is NOT a genetic disorder?
Ans x 1.Down’s Syndrome

x 2. Colour blindness

o 3.ADS

x 4. Thalassemia

Question ID : 8161613878
Status : Answered
Chosen Option : 3

Q.20 Which among the following is the popular name of polytetrafluoroethylene?
Ans X 1 silicon

5 2. Nyion
JB.Teron
x 4.Zylon

Question ID : 8161613882
Status : Answered
Chosen Option : 3
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Q.21 What is the percentage of seats reserved for economically weaker sections in
educational institutions as per the 124th Constitutional Amendment?

Ans  of 110
K 2.15
< 312
< 418

Question ID : 8161613901
Status : Answered
Chosen Option : 1

Q.22 To which of the following fields of science do "Kirchhoff's Rules" belong?

Ans J 1. Electrical circuits
X 2. Atomic structure
X 3. Optics

x 4. Organic chemistry

Question ID : 8161613876
Status : Answered

Chosen Option : 1

Q.23 As per the Census of India 2011, the population density of India was per square
km.

Ans X 1385
< 2.395
2% 3.389
W 4.382

Question ID : 8161613886
Status : Not Answered
Chosen Option : --

Q.24 Which of the following towns of Kerala was known as Mahodayapuram during 10th
century CE?

Ans X' 1 Kozhikode

25 2.Kochi
‘f 3. Kodungallur

x 4. Kannur

Question ID : 8161613895
Status : Not Answered

Chosen Option : --

Q.25 As per Tamil tradition, assemblies of poets — known as ‘Sangam' — were held at:
Ans X 1 Arikamedu

x 2. Mahabalipuram

o 3. Madurai
x 4.Puhar

Question ID : 8161613894
Status : Not Answered
Chosen Option : --
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Q.26 Indian sportsperson Koneru Hampi represents the country in:
Ans x 1. wrestling

« 2.chess
x 3. cycling

x 4.table tennis

Question ID : 8161613904
Status : Answered
Chosen Option : 2

Q.27 Which of the following space agencies uses a spacecraft named Hayabusa?

Ans X 1_China National Space Administration (CNSA)
x 2. National Aeronautics and Space Administration (NASA)
‘f 3. Japan Aerospace Exploration Agency (JAXA)

x 4. Centre national d'études spatiales (CNES)

Question ID : 8161613870
Status : Answered
Chosen Option : 3

Q.28 The 18th Summit of the Non-Aligned Movement (NAM) was held in in 2019.
Ans X 1.India

x 2.Bangladesh
J 3. Azerbaijan

x 4. South Africa

Question ID : 8161613862
Status : Not Answered
Chosen Option : --

Q.29 In the context of automobiles, the use of a technology termed as 'microdot’ is aimed at:
Ans x 1.improving fuel efficiency

x 2.improving safety features
JS.curbing vehicle thefts

x 4.reducing emission

Question ID : 8161613877
Status : Answered
Chosen Option : 4

Q.30 The first indigenously-developed standing wheelchair has been named as:
Ans x 1. Standon

75 2. Flexiup
/5 3.Extend
W 4 Aise

Question ID : 8161613874
Status : Not Answered
Chosen Option : ==
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Q.31 Which of the following districts witnessed the establishment of a parallel government in
1943?

Ans X' 1 Pune
x 2.Rajahmundry
< 3.Nasik
W 4. satara

Question ID : 8161613896
Status : Answered
Chosen Option : 4

Q.32 Who among the following serves as the Chairperson of GST (Goods and Services Tax)
Council in India?

Ans « 1. Union Finance Minister
x 2. Union Commerce Minister
x 3. Union Cabinet Secretary

5 4.Prime Minister

Question ID : 8161613865
Status : Answered
Chosen Option : 1

Q.33 Interms of size, Titan occupies the
solar system.

Ans X 1 fourth
25 2. first
< 3. third
o 4.second

place among the natural satellites in our

Question ID : 8161613872
Status : Answered
Chosen Option : 1

Q.34 If the power of an object is expressed in terms of Dioptre, then the object must be a/an

Ans X 1_electrical furnace

x 2. automobile engine

J 3.lens

x 4.jetengine

Question ID : 8161613868
Status : Answered
Chosen Option : 3
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Q.35 As per International Energy Agency, as of January 2020, India's rank in the world in
terms of crude oil refining capacity is:

Ans X' 1 2nd
< 2.3rd
< 3. 1st
o 4.4th

Question ID : 8161613890
Status : Not Answered
Chosen Option : --

Q.36 In which of the following cities was the 11th BRICS Summit, 2019 held?
Ans X 1 _Cape Town

75 2.New Delhi
x 3. Xiamen
« 4. Brasilia

Question ID : 8161613859
Status : Answered
Chosen Option : 2

Q.37 Which of the following states has a district named Tonk?

Ans X 1 Maharashtra

J 2.Rajasthan

2< 3.Madhya Pradesh

25 4.0disha

Question ID : 8161613899
Status : Answered
Chosen Option : 2

Q.38 Which of the following fuels has the highest contribution in firing the electricity
generation plants in India?

Ans X 1 Natural gas

X 2. Uranium

X 3. Petroleum

«4.Coa|

Question ID : 8161613891
Status : Answered
Chosen Option : 4

Q.39 The book, 'In the Service of the Republic' is jointly authored by .
Ans X 1.Shashi Tharoor and Madhuri Vijay

o 2. VijayKelkar and Ajay Shah
X 3. Ramchandra Guha and Aditya Mukherji

X 4. Jairam Ramesh and Keshav Guha

Question ID : 8161613898
Status : Not Answered
Chosen Option : --
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Q.40 Which among the following is the name of a barcoding software used by Haryana Police
to ensure foolproof security of forensic evidences?

Ans X' 1 Arest
W 2 Trakea
x 3. Secure
< 4. Frost

Question ID : 8161613873
Status : Answered
Chosen Option : 1

Q.41 Which of the following Articles of the Indian Constitution prohibits discrimination in
employment in any government office?

Ans X115
W 216
< 3.14
X 412

Question ID : 8161613902
Status : Answered
Chosen Option : 2

Q.42 As per the database titled International Migrant Stock 2019, which of the following was
the leading country of origin of international migrants in 20197

Ans X 1 China

W 2.India
x 3. Mexico

x 4.Bangladesh

Question ID : 8161613863
Status : Answered
Chosen Option : 2

Q.43 Which of the following acronyms stand for an initiative by the Government of India for
‘Zero Preventable Maternal and Newborn Deaths'?

Ans X 1 KABY
W 2. suman
< 3. SAMMAN
< 4. SEHAT

Question ID : 8161613903
Status : Answered
Chosen Option : 4

Q.44 Which of the following states is the largest producer of coffee in India?
Ans X" 1. Andhra Pradesh

‘f 2. Karnataka

< 3. Tamil Nadu

x 4. Kerala

Question ID : 8161613888
Status : Answered

Chosen Option : 2
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State Assembly elections held in October 20197
Ans X 1. Maharashtra Navanirman Sena

\f 2. Indian National Congress
X 3. Peasant and workers Party of India

x 4. Nationalist Congress Party

Q.45 Which of the following parties emerged as the fourth largest party in Maharashtra in the

Question ID : 8161613860
Status : Answered
Chosen Option : 2

Manchester.
Ans 4; 1. Mahatma Gandhi

< 2.Indira Gandhi
< 3.Bhimrao Ambedkar

/< 4.Jawaharlal Nehru

Q.46 In November 2019, a 9-foot high and 800 kg bronze statue of

was unveiled in

Question ID : 8161613861
Status : Answered
Chosen Option : 1

Q.47 Al-Biruni's famous work 'Kitab-ul-Hind' is a composition in the
Ans X" 1 Turkish

x 2. Sanskrit
25 3.Urdu
W 4. Arabic

language.

Question ID : 8161613892
Status : Answered
Chosen Option : 4

Ans  off 1 IR gt e
X 2. FErafemt o
< 3. TRY IR
P SRECIRGIER

Q.48 frafafea o | fFra SR H1, a5 Ud Ja1 R (GST) & Siavia wfvrferd 78 fvar mar g2

Question ID : 8161613866
Status : Answered
Chosen Option : 3

the capacity of the President of:
Ans X' 1 France

x 2.Canada
X 3. South Africa

W 4. Brazil

Q.49 Jair Bolsonaro, who was the chief guest at the Republic Day Parade 2020, was invited in

Question ID : 8161613858
Status : Answered
Chosen Option : 4
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Q.50 frrafafea & & F19 @ gurd Feean ra sre=rm (aw) 82
Ans X 1 Ifrfow ganh sfafdwma Torah

25 2. et uGe 2885
25 3. Tugay ot

W 4. FF AR ganh e

Question ID : 8161613871
Status : Not Answered
Chosen Option : --

Section : General Engineering Electrical

Q1 Which of the following statements is NOT true with regard to digital instruments?
Ans " 1. Easy readability

/< 2. greater accuracy

#< 3. better resolution

+ 4 Manual setting of polarity and zeroing is required

Question ID : 8161613942
Status : Answered
Chosen Option : 4

Q.2 Aseparately excited DC generator has a no-load voltage of 127V, R, = 0.02 Q and R, = 15 0. Find the armature
current when the generator terminal voltage is 120 V on load.

Ans o 1350 A
<2 150A
/<3 220A
<4 10A

Question ID : 8161613974
Status : Answered
Chosen Option : 1

Q.3 Aone-phase transformer has 400 and 1000 turns in primary and secondary, respectively. The cross-sectional area of the

core is 60 cm® . The primary of the transformer is connected to a supply of one-phase, 50 Hz, 500 V. Determine the
secondary voltage of the transformer.

Ans X 1. 800V
V2 1250V
X3 125V
< 4. 8000V

Question ID : 8161613950
Status : Answered
Chosen Option : 2
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| o)
¥

S

Ans  of 1. N-channel JFET
#< 2. P-channel JFET
#< 3. N-channel MOSFET
< 4. P-channel MOSFET

Q4 Identify the device based on the given symbol.

Question ID : 8161614000
Status : Answered
Chosen Option : 2

Ans X1-D'Cﬁ'2'
w2 ooch

X 3.

X 4=

Q5 In the indicating instruments, the control torque produced by the spring is:

Question ID : 8161613938
Status : Answered
Chosen Option : 2

v

Ans 1. unity p.f in generators and motors

/< 3. starting torque in generators and motor action

Q6 Damper windings are used in synchronous machines to provide:

/< 2. unity p.f. in generators and maximum torque in motors

starting torque in synchronous motor and to prevent the hunting in generators.

Question ID : 8161613965
Status : Answered
Chosen Option : 4

Ans X" 1. Ohm’s, aids
7< 2. Faraday’s, aids
« 3. Lenz, opposes
7< 4. Fleming’s, aids

Q.7 law states that the induced current always develeps a flux which

the very cause it is due to.

Question ID : 8161613921
Status : Answered
Chosen Option : 3
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Q.8 The total quantity of light energy emitted per second from a luminous body is defined as:
Ans  of 1. Luminous flux

/< 2. Light

7< 3. Light flux density

7< 4. Luminous intensity

Question ID : 8161613996
Status : Answered
Chosen Option : 4

Q.9 Afull-wave rectifier uses two diodes. The internal resistance of each diode is assumed to be constant at 20 Q. The
transformer RMS secondary voltage from centre tap to each end of secondary is 50 V and load resistance is 980 Q. Find
the mean load current.

Ans X 1. 55 mA
X 2. 25 mA
/<3 35mA
v 4 45 mA

Question ID : 8161614003

Not Attempted and
Marked For Review

Chosen Option : ==

Status :

Q.10 Inanelement, if a differential charge dq gives a differential energy dw . then the rise in potential of the charge is:

Ans dq

Question ID : 8161613910
Status : Answered
Chosen Option : 3

Q.11 LetV be the phase voltage of a three-phase, four-wire distribution system. What could be the line voltage of that
system?

Ars o 13XV
<2V/3
X3 V2
X4 V3

Question ID : 8161613982
Status : Answered
Chosen Option : 1
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Q12 pawer factor of a circuit or installation is defined as:

Ans 1.

the ratio of power received at the received end to the total power transmitted at the sending end

r

the ratio of power consumed by the circuit in W to the total power at sending end

< 3

the ratio of the maximum connected load to the total connected load

v

the ratio of power consumed by the circuit in W to the total complex power input to the circuit in VA

Question ID : 8161613978

Status : Answered

Chosen Option : 4

Q.13 wv(t) =, cos(wt) is applied to a half-wave rectifier. What is the RMS value of the output wave?

< 1.

2

N o

I
n .-
n

| Question ID : 8161613936

Status : Answered

I Chosen Option : 4

I —

Q14 Determine the average value of the given waveform.

-2 I—

i
I
0 o (r—o) =

Ans X 1. (m— a)F,
2 Ok

T
X s (T+a)F,
(r+ a)E,
S

5 4.

Question ID : 8161613935

Status : Answered

Chosen Option : 2
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Q15 The diversity factor between transformers for residential lighting is:
Ans X' 1. 1.8

X225

v 13

K43

Question ID : 8161613988
Status : Answered
Chosen Option : 1

Q.16 Find the conductance of a short circuit on 100 V. which results in a short circuit current of 500 A.
Ans X 1.0.28

X2020

K350

viss

Question ID : 8161613914
Status : Answered
Chosen Option : 4

_ —

Q.17 How is the most economical voltage selected for transmission in a particular requirement?

Ans X 1. Based on Fleming’s left hand rule

+ 2. Based on Kelvin’s law

/< 3. Based on Fleming’s right hand rule

7< 4. Based on Lenz law

| Question ID : 8161613980
Status : Answered
Chosen Option : 2

Q18 Find the current i, and voltage v, in the given network.

14V 1 20

ol —

Tl ATATAY,
+

Ct)szv v, < 40 2A GD 35A .D

Ans X 1.i,=154, wv,=-18V
v2i, =154, v, =46V
X3i, =554, v,=18V
Xai,=—154, v,=46V

Question ID : 8161613920
Status : Answered
Chosen Option : 2
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Q.19 TIetR; be the resistance of each conductor in a d.c. two wire with midpoint earthed transmission system. What is the
copper loss in the system to transmit the power P?

Ans 2
P
- R
4y?

K2 _p

Vi __R

Question ID : 8161613983

. Not Attempted and

Status - Marked For Review

Chosen Option : --

Q20 A |5V AC source is applied to a load impedance of (3 — j4)(. Find the load current.
Ans (1. (1.8—j2.4) A

W2 (18+j24)A

X3 (24+j18) A

X4 (24—j18) A

r Question ID : 8161613934
| Status : Answered
L Chosen Option : 2

Q21 Choose the correct statement when V.. = 0 and V. = 0 ina JFET.

Ans  of 1.

The depletion regions around the p-n junctions are equal in thickness and symmetrical.

X 2. I is maximum.

/< 3. I is half of the maximum value.

5 4.

The depletion regions around the p-n junctions are not equal in thickness.

Question ID : 8161614001
Status : Answered
Chosen Option : 1
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Q.22 What is the magnetic flux density at distance 1 due to a long conductor carrying current of I 2

e X1.£

dmr

Xz.ﬂ

mnr

Question ID : 8161613926
Status : Answered
Chosen Option : 4

Q.23 LetAq be the net charge passing through an element in a period of At . What is the current passing through that
element?

Ans 1. Ag X At

Question ID : 8161613909
Status : Answered

Chosen Option : 2

Q24 Which of the following statements is true with regard to the given node?

Ans X L i, +ig+i,+i-=0
V2ii—l—la+i,—is=0
y RN T I e
X 1=ttt iytie=0

Question ID : 8161613915
Status : Answered
Chosen Option : 2
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Q25 Determine the average load from the load curve.

Sl

|

| |

S o] [ |

0 2 4 B & 1012 14 18 18 20 22 24
Time in howrs ————

Ans X140 MW
v 2 50 MW
< 3. 45 MW
X 4. 55 MW

Load in MW —————
g 8 3

Question ID : 8161613990
Status : Answered

Chosen Option : 2

Q.26 If the net copper loss at full load of a one-phase transformer is F,,, W, what will be the copper loss of the same
transformer with 25% of full load?

o K1 Pl
V2 F,/16
/<3 P,/8
X4 P.,Jj2

Question ID : 8161613946
Status : Answered

Chosen Option : 2

Q.27 Athree-phase, six-pole, star-connected alternator has the following specifications:
o Flux per pole is 0.1 Wb
* 54 slots in stator
* Double layer winding
* Each coil has 8 turns
e Coil is chorded by 1 slot.
Find the no-load phase voltage in the alternator running at 1200 rpm. Assume distribution and pitch factors are unity.

Ans  of 1. 1.92 KV
<2 1.82kV
X3 LT2kV
X4 22kV

Question ID : 8161613977

. Not Attempted and
" Marked For Review

Chosen Option : --

Status
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Q.28 The ratio of RMS value of a wave to the average value of that wave is defined as:
Ans X 1. Mean value

v 2. Form factor

#< 3. Peak factor

/< 4. Average factor

Question ID : 8161613929
Status : Answered
Chosen Option : 2

Q.29 ADC short-shunt compound generator has the following specifications: R, = 0.05 0, R,r = 0.3 Q, R, = 200Q and
voltage drop per brush is 1 V. Find the generated EMF when the generator delivers a load of 30 A at 220 V.

Ans X 1. 240,62V
v 2 23256V
X3 220V
X4 230V

Question ID : 8161613976
Status : Answered
Chosen Option : 2

Q.30 Incase of capacitor start capacitor run one-phase induction motor, two capacitors are used. A capacitor with
value is required for optimum running conditions which is connected permanently in series with the auxiliary winding.

Ans & 1. Three-fourth times the starting capacitor
o 2. Less than one-fifth of starting capaeitor
7< 3. Equal to starting capacitor
7< 4. Two times the value of the starting capacitor

Question ID : 8161613958
Status : Answered
Chosen Option : 1

Q.31 Inthe design process of an alternator, it is desired that the number of poles be four-pole, three-phase and two-layer
winding. Which of the following number of slots is NOT desirable for the design?

Ans X112
X2 24
< 3 48
v 32

Question ID : 8161613968

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q32 Determine the ohmmeter value in the given network when R = 16 (.

40 20

& Ohmmeter @

Ans X142 0
X2220
V3120
X 4380

Question ID : 8161613941
Status : Answered
Chosen Option : 3

Q33 What is the EMF generated per path in a P -pole simplex lap-wound generator?
Ans PZN

X1 —PV
60
Xz-ﬂPV
120
Xs.ﬂv
120
v 73 ﬂv
60

I Question ID : 8161613975
| Status : Answered
l Chosen Option : 4

Q.34 In synchronous motor, the load on the motor is increased and the rotor progressively tends to:

Ans X 1

lead in phase by some angle but it still continues to run synchronously

7< 2. rise in speed

v X3

fall back in phase by some angle but it still continues to run synchronously

7< 4. fall back in speed

Question ID : 8161613962
Status : Answered

Chosen Option : 4
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Q.35 Asupplyof 120 V is applied to three lamps connected in parallel. The power ratings of the lamps are 60W, 40W, and
100W. Determine the total resistance and total current.

Ans X1 R=420.1=2864
X2R=520,1=1464
X3R=720,1=2464
v+ R=7201=1674A

Question ID : 8161613918
Status : Answered
Chosen Option : 4

Q36 The number of parallel paths in simplex wave-wound generator is:
Ans 1. two times the number of poles

#< 2. half the number of poles

7< 3. equal to the number of poles

v 4 two

-

Question ID : 8161613970
Status : Answered
Chosen Option : 4

i

Q.37 An MC instrument with internal equivalent resistance of 10 €2, takes 40 mA to produce full-scale deflection. How do
you convert that instrument to measure the current from 0A to 2A?

Ans X 1.

By connecting 0.2041 ( resistance in series with the instrument

=< 2.

By connecting 0.4082 (] resistance in parallel with the instrument

5 3.

By connecting 0.4082 () resistance in series with the instrument

v

By connecting 0.2041 (] resistance in parallel with the instrument

Question ID : 8161613944
Status : Not Answered

Chosen Option : --
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Q.38 What is the average value of the given wave form? Take the maximum value as V,,.

n 2n

x o Ym

X 3.

Question ID : 8161613932
Status : Answered
Chosen Option : 4

Q.39 Which of the following types of watt-hour meter is used only in AC circuits?
Ans o 1. Induction type

/< 2. Moving iron type
/< 3. Moving coil type
/< 4. Electrolytic type

| Question ID : 8161613939
Status : Answered
I Chosen Option : 1

Q40 Choose the INCORRECT statement with regard to a forward biased pn diode.
Ans

/< 1. The junction offers low resistance to current flow.

W

The potential barrier is constant irrespective of magnitude of the applied voltage.

< 3.

Current flows in the circuit due to the establishment of low resistance path.

< 4.

The potential barrier is reduced and at some forward voltage, it is eliminated.

Question ID : 8161614002
Status : Answered
Chosen Option : 2
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Q.41 AnInduction Motor is expected to run at 950 rpm at full load, with a power supply of 50 Hz. What could be the number
of poles in the IM?

Ans X 1. Four
v 2 Six
/< 3. Eight
< 4. Two

Question ID : 8161613951
Status : Answered
Chosen Option : 2

Q.42 Which of the following statements is NOT true for discharge lamps with regard to metal filament lamps?

Ans 1. Time is needed to attain full brilliancy.

=< 2.

Starting, being somewhat difficult, requires starters/transformers.
« 3. Operates at high power factor
7< 4. High initial cost

Question ID : 8161613998
Status : Answered
Chosen Option : 2

Q.43 Athree-phase induction motor with eight poles runs from a three-phase supply of 50 Hz. What is the synchronous speed
of the motor?

Ans 1. 3000 rpm
7< 2. 1500 rpm
7< 3. 1000 rpm
o 4. 750 rpm

Question ID : 8161613947
Status : Answered
Chosen Option : 4

Q.44 A wire of length 50 cm moves at right angles to its length at 50 m/s in a uniform magnetic field of density 1T. Find the

EMF induced in the conductor when the direction of motion is inclined at 30° to the direction of the field.
Ans X125V
K2 675V
v 125V
X450V

Question ID : 8161613927
Status : Not Answered
Chosen Option : --
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Q45 _ isthe angle generated by a surface passing through a point in space and a periphery of the area.
Ans & 1. Radian

+ 2. Solid angle

75 3. Degree

< 4. Angle of incidence

Question ID : 8161613995
Status : Answered
Chosen Option : 2

Q.46 Suppose a plant that has installed capacity of 20 MW produces annual output of 7.35 X 10° kWh and remains in
operation for 2190 hours in a year. Find the plant use factor.

Ans X 1. 14.5%
v 2 16.7%
< 3. 18.5%
X 4. 255%

Question ID : 8161613991
Status : Not Answered
Chosen Option : ==

Q.47 Choose the INCORRECT statement with respect to use of conventional sources in eleetrical energy generation.

Ans X 1.

The fuels are likely to be depleted in near future, forcing us to conserve them and find alternative resources.

r

Toxic, hazardous fumes and residues pollute the environment.
7< 3. Maintenance costs are high.

o 4. Overall conversion efficiency is very good.

Question ID : 8161613973
Status : Answered
Chosen Option : 2

Q.48 Which of the following statements is NOT true with respect to electrical heating?

Ans X 1

Automatic protection against over-currents or overheating can be provided.
#< 2. It does not produce any flue gas.

#< 3. It is free from dirt.
« 4. Overall efficiency is poor.

Question ID : 8161613999
Status : Answered
Chosen Option : 2
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Q.49 What is the induced EMF of a conductor with length I which moves a distance dx in the time dt | if the component of
distance moved at right angle to the field density B is dx sinf ?

Ans X' 1. Blsin @
dx
v 2 Bl— sin®@
dt

< 3. Bl(dx)*sin@
Bldt
dxsin @

Question ID : 8161613925
Status : Answered
Chosen Option : 2

Q.50 If Ry isthe resistance of a conductor at T; and R, at Ty and coefficient of resistance at T, is @, , the relation between
these quantities is:

Ans X 1. Ry = Ry + ap(T, + TR,
X2 Ry=R,+a,(T, —T,)R,
X3 R, =Ry+a,(T,—T,)
W4 R, =Ry +ay(T, —T,)R,

Question ID : 8161613912
Status : Answered
Chosen Option : 3

Q51 Plant capacity is defined as
Ans ¢ 1. minimum load it can supply
7< 2. average load connected to it
' 3. the ratio of the average demand to plant capacity factor

7< 4. average power it can supply

Question ID : 8161613986
Status : Answered
Chosen Option : 3

Q.52 The impedance of a circnit placed across a 120 V, 50 Hz source is (10 + j20) ). Find the current through the load.
Ans 1. (2.4+j4.8)A

X2 (48—j2.4)A

X3 (48+j2.0)A

Vi (24—j48)A

Question ID : 8161613933
Status : Answered
Chosen Option : 4
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Q.53 What is the frequency of the generated EMF in a six-pole alternator running at 1200 rpm?
Ans  of 1. 60 Hz

X 2. 50 Hz

X 3. 40 Hz

X 4. 30Hz

Question ID : 8161613967
Status : Answered
Chosen Option : 1

Q.54 A modern coal-fired thermal power station consumes about _ of its power for supplying to the auxiliaries.
Ans  of 1 10%

X 2. 40%

X 3. 20%

X 4. 30%

Question ID : 8161613972
Status : Answered
Chosen Option : 4

Q55 Which circuit will not always produce any transients?
Ans X 1. RL circuit

#< 2. RLC circuit

#< 3. Linear Circuit

W 4 Pure resistive circuit

Question ID : 8161613908
Status : Answered
Chosen Option : 3

Q.56 is the maximum reverse voltage that can be applied to the pn junction to the junction.

Ans o 1. Peak inverse voltage, without damage

/< 2. Barrier voltage, without damage
75 3. Maximum power rating, damage

75 4. Peak inverse voltage, with damage

Question ID : 8161614005
Status : Answered
Chosen Option : 1
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Q57 What is the binary equivalent of the decimal value 20¢4?
Ans 3110110,

2. 10101,

% 3. 11000,

W 4 10100,

Question ID : 8161614004
Status : Answered
Chosen Option : 4

Q.58 Find the current carrying capacity of wire from meter to main distribution board having three light/fan circuits of 800 W/
each and two 15 A power circuits of 1.5 kW each. Take the permissible power factor as 0.8 and safety factor as 1.5.

Ans  of 145 A
<2 50A
X3 30A
X4 65A

Question ID : 8161613992
Status : Not Answered

Chosen Option : --

Q.59 AnAC source is applied to a pure inductive circuit. What is the active power consumed by the circuit?
Ans X1V ]
V20
V 2

X3 —
X,

1
X4 LI
2

Question ID : 8161613931
Status : Answered
Chosen Option : 2

Q.60 Which of the following methods is NOT used in the improvement of p.f. of a power network?

Ans " 1. Use of static capacitors in parallel
#< 2. Use of svnchronous capacitors
« 3. Use of high p.f. equipment

7< 4. High inductive elements in series with the loads

Question ID : 8161613979
Status : Answered
Chosen Option : 4
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Q.61 A hybrid stepping motor has eight poles which have been castellated to have six teeth each. If the rotor has 60 teeth,
calculate the stepping angle.

Ans X 1.1.8°
~ 2 3°
v 15°
X436

Question ID : 8161613961

Status : Answered

Chosen Option : 3

Q.62 A single-phase universal motor is operated with AC source. The torque of the motor during the negative half cycle of
the input current:

Ans  of 1.

follows the same pattern of the torque caused by the positive half-cycle of the input current

X 2.

is half of the torque caused by the positive half cycle of the input current
7< 3. is negative

/< 4. is zero

Question ID : 8161613960

Status : Answered

Chosen Option : 1

Q.63 Find the current in each branch of the given network if the total current is 2.25 A,

fift
10V

Ans X 1., =1254, L, =104
wol =14 [,=1254
Rl =24 L=0254
X41,=0754, I,=154

Question ID : 8161613919

Status : Answered

Chosen Option : 3
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Q.64 A one-phase, 50 Hz core type transformer has core of cross-section 400 ¢cm? . The permissible maximum B = 1 T. Find
the number of turns on high and low voltage sides for a 3000 V/ 220 V ratio.

Ans 1. Nj, = 338 turns, N, = 26 tumns
W' 2. Ny, = 26 turns, Ny, = 338 tumns
#< 3. N;, =48 turns, N, = 654 turns
X 4. Ny, = 35 turns, Ny, = 477 turns

Question ID : 8161613953
Status : Not Answered
Chosen Option : --

Q.65 Addition of a small per cent of silicon 3% to iron will increase the _ significantly; by that __ will be reduced.
Ans X 1. eddy current loss, resistivity

W 2. resistivity, eddy current loss

/< 3. conductivity, eddy current loss

/< 4. conductivity, hysteresis loss

Question ID : 8161613923
Status : Answered

Chosen Option : 2

Q.66 Find the resistance of a 1 km strip of copper with rectangular cross section 2.5 cm by 0.05 em. if p = 1.756 X 107%Qm ..

Ans X 1. 0.04 O
<2140
30140
vial140

Question ID : 8161613916
Status : Answered
Chosen Option : 4

Q.67 In double-field revolting theory, slip with respect to forward flux and backward flux are:
Ans X 1. Sf=]-s, and Sb=s

2 2. Sf=2-s, and Sb=1-s

v 5. Sf=s, and Sb=2-s

/< 4. Sf=1-s, and Sb=2—s

Question ID : 8161613955
Status : Answered
Chosen Option : 4
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Q.68 A four-pole. three-phase Induction Motor operates from a supply with S0Hz. What is the frequency of the rotor currents
when the slip is 0.06?

Ans X 1. 50 Hz
< 2. 48 Hz
s 3Hz
X 4 47Hz

Question ID : 8161613948
Status : Answered
Chosen Option : 3

Q.69 The decrease in the value of the power plant / electrical equipment and building due to constant use is known as:
Ans X 1. Annual maintenance cost

X 2. Interest

7< 3. Annual operating cost

« 4. Depreciation

Question ID : 8161613987
Status : Answered
Chosen Option : 4

Q.70 Which of the following fuels is used as a fossil fuel in electric power generation?
Ans X 1. Solar light

< 2. Water

& 3. Wind

v 4 Coal

Question ID : 8161613971
Status : Answered
Chosen Option : 4

Q71 Which of the following are the essentials of any good lighting system?
(a) Adequate illumination of suitable color on the working surfaces.
(b) Avoidance of hard shadows
(c) Avoidance of glare
(d)Maintenance free

Ans 1. (b), (c) and (d)
X 2. (a), (b) and ()
W 3. (a), (b). (c) and (d)
< 4. (a), (b) and (d)

Question ID : 8161613997
Status : Answered
Chosen Option : 3
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Q.72 Whenever a synchronous machine operates at normal conditions, what is the relation between the rotor speed N in rpm,

the frequency f in Hz, and the number of poles P ?

Ane qf1.f==fyi

120
120f
X2 N=
2P
120N
}(3.f‘:_____
P
120f

X o ma s
S%7p

Question ID : 8161613966
Status : Answered
Chosen Option : 1

Q.73 Itis desired to transmit electrical power for a distance of 200 km. What could be the most economical transmission
voltage?

Ans o 1. 132 kV
X 2 33kV
X3 33kV
X411 kv

Question ID : 8161613981
Status : Not Answered
Chosen Option : --

Q.74 Incase of alternators with single-layer concentric windings. the number of slots is equal fo ___ the number of coils
Ans & 1. thrice

/< 2. quad

X 3. half

v 4 twice

Question ID : 8161613963
Status : Answered
Chosen Option : 4

Q.75 Apower station has a maximum demand of 15,000 kW. The annual load factor is 50% and plant capacity factor is 40%.
Determine the reserve capacity of the plant.

Ans X 1. 37.5 kKW
v 2 375 MW
X 3 375 kW
X 4 37.5 MW

Question ID : 8161613993
Status : Not Answered
Chosen Option : --
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Q.76 An electric motor operating from 220V supply takes a current of 8A. The motor has an efficiency of 80%. Find the
output of the motor.

Ans  of 1 1408 W
X2 1350 W
<3 1450 W
X4 1250W

Question ID : 8161613949
Status : Answered
Chosen Option : 1

Q.77 AS500W discharge lamp takes a current of 4A at unity p.f. Find the inductance of a choke required to enable the lamp to
work on 250 V, 50 Hz main.

Ans X 1. 1,72 mH
< 2 17.2mH
v 3 0172 H
X 4. 0.172 mH

Question ID : 8161613989
Status : Not Answered
Chosen Option : ==

Q.78 is a form of electromagnetic energy radiated from a body which is capable of being perceived by the human eye.

Ans X 1. Vibration
/< 2. Heat
7< 3. Current

« 4 Light

Question ID : 8161613994
Status : Answered
Chosen Option : 4

Q.79 ZLetV(t) be the voltage across an elemant and I(£) be the corresponding current passes through that element. How
would one compute the energy consumed by that element?

4
X1 (?) dt
X2 [(V+Ddt
v [vidt

xa J-I—th

Ans

Question ID : 8161613913
Status : Answered
Chosen Option : 3
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Q.80 Shaded pole induction motor isusually  inefficiency, and built  hp
Ans o 1. low, around 1/20 to 1/2

< 2. low, around 1

7< 3. high, around 2

7< 4. high, around 1

Question ID : 8161613959
Status : Answered
Chosen Option : 2

Q.81 In case of permanent-split capacitor one-phase induction motor, the starting torque is:
Ans  of 1. 25% of the maximum torque

75 2. =25% of the maximum torque

#< 3. 5% of the maximum torque

/< 4 0Nm

Question ID : 8161613957
Status : Answered
Chosen Option : 3

Q.82 Which of the following is NOT true with respect to short-pitched coils in alternators?
Ans 1. They save copper of end connections.

/< 2. Eddy current and hysteresis losses are reduced.

7< 3. They improve the wave-form of the generated EMF.

« 4. They produce high distorting harmonics.

Question ID : 8161613969
Status : Answered
Chosen Option : 4
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Q.83 Horizontal input to a scope is E,, sin(wt) V, vertical input to that scope is E,,, sin(wt + 30°) V. What is the Lissajous
pattern in that CRO?

Ans

<.

X 3.

v

D % & @

Question ID : 8161613943
Status : Answered
Chosen Option : 4

Q.84 Determine the current in the given circuit, if the source voltage is v, = 12 cos (1000z + 157).
30

m)1

vg()

Ans X 1. 0.24cos(1000t + 15° —tan='3/4) A
v 2. 0.24cos(1000t + 15° —tan~*4/3) A
3. 0.24c0s(1000t + 15°+tan"13/4) A
# 4 0.24cos(1000t + 15° + tan™* 4/3) A

Question ID : 8161613937
Status : Not Answered
Chosen Option : --
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Q85 Determine the voltmeter reading in the given circuit.

h

—_—

60
W\ il
@ Voltmeter ¢
20 0.25A B8O &

Ans X 1. +15V
V275V
K3 +30V
X4 —30V

Question ID : 8161613945
Status : Not Answered
Chosen Option : --

Q.86 In case of two-layer winding in stator of alternators, each slot in stator contains
Ans  of 1. two coil sides

& 2. four coil sides

#< 3. three coil sides

#< 4. one coil side

Question ID : 8161613964
Status : Answered
Chosen Option : 1

Q.87 Adevice stores 500 T of energy and releases this energy in the form of an electric current of 40 A, which has a duration
of 15 ms. Find the average voltage across the terminals of the device.

Ans X 1. 750V
X2 233V
W3 833V
X4 250V

Question ID : 8161613911
Status : Not Answered
Chosen Option : ==

Q.88 A one-phase, 50 Hz, 40 kVA transformer with a ratio of 2000 V/ 250 V has a primary resistance of 1.15 Q) and a
secondary resistance of 0.0155 (). Calculate total copper loss on half of the full load.

Ans X 1. 856.8 W
V22142 W
<3 6426 W
X 4 4284 W

Question ID : 8161613952
Status : Not Answered
Chosen Option : --
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Ans X 1. L X i(t)
X 2. Lfi(t)
< 3. L x dt/di(t)

di(t)
v Lx =

Q.89 How to estimate the self-induced EMF in a coil with L as self-inductance and carrying a current i() ?

Question ID : 8161613922

Status : Answered

Chosen Option : 4

Q9 Determine the currents in the given network.
40Q 40

V= ,:] zn"—iﬁ =40V

Ans  of 1§, =3.1254, i,=56254
X 2.4, =51254 i,=3.6254
X3i,=21254, i,=46254
Xai,=41254, i,=26254

—

Question ID : 8161613917

Status : Answered

Chosen Option : 1

system?

b) The transmission cost should be unduly excessive.
¢) The insulation resistance of the whole system should be very high.

Ans X 1. (a), (b) and (d)
v 2. (a), (c)and (d)
# 3. (b), (c) and (d)
< 4. (a), (b)and (c)

Q.91 Which of the following has to be considered for overhead underground electrical power transmission/distribution

a) The voltage at the consumer’s premises must be maintained within + 4 or + 6% of the declared voltage.

d) The loss of power in the system itself should be a small percentage (about 10%) of the power transmitted.

Question ID : 8161613984

Status : Answered

Chosen Option : 2
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Q.92 The maximum demand on a power station is 200 kW. If the annual load factor is 50%, find the total energy generated in
a year.

Ans 1. 576 MWh
X 2. 87.6 MWh
v 3. 876 MWh
X 4. 57.6 MWh

Question ID : 8161613985
Status : Not Answered
Chosen Option : --

Q93 Magnetic flux density is quantified in terms of
Ans 5 1. Weber

< 2. Lumen

K 3 Lux

v 4 Tesla

Question ID : 8161613907
Status : Answered
Chosen Option : 1

Q.94 Whenever two parallel conductors carry current in them, the force between the conductors is:

Ans X 1.

proportional to the product of currents in the two conductors, directly propertional to the length of the section

considered and distance of separation between the conductors

W2

proportional to the product of currents in the two conducters and also direetly proportional to the length of the section
considered and inversely proportional to distance of separation between the conductors

5 3.

proportional to the product of currents in the two conducters and inversely proportional to the length of the section

considered and proportional to distance of separation between the conductors.

X 4

proportional to the product of currents in the two conductors and independent of the distance between them

Question ID : 8161613924
Status : Answered
Chosen Option : 2

Q.95 In order to increase the range of measuring voltage. is connected in with voltmeter.

Ans 1. low resistance, parallel

« 2. high resistance, series
7< 3. high resistance, parallel

< 4. low resistance, series

Question ID : 8161613940
Status : Answered
Chosen Option : 2
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Q9% yWhich of the following quantities has ‘newton’ as its SI unit?
Ans o 1. Force

& 2. Power

7< 3. Energy

7< 4. Torque

Question ID : 8161613906
Status : Answered
Chosen Option : 1

Q.97 Ina single-phase single-winding induction machine, single-phase AC supply is applied to the machine when the rotor is
at rest. Choose the INCORRECT statement.

/< 1. MMF is stationary in space and varying in magnitude.
7< 2. The nature of the MMF is pulsating.
v

The machine produces a rotating MMF at synchronous speed.
< 4.

The stator winding gives rise to an MMF whose axis is along the winding.

Question ID : 8161613954
Status : Answered
Chosen Option : 1

A .

Q.98 Two coupled coils with L, = 0.5 H and L, = 4.0 H have a co-efficient of coupling 0.8. Find maximum value of the

induced EMF in the coil 2 if a current of i; = 20sin314¢ A is passed in coil L.
Ans X1 226V
X2 444V
V3 7.1kV
X 4355V

Question ID : 8161613928
Status : Not Answered
Chosen Option : --

-

Q99 The ratio of the peak value of a wave to its RMS value is defined as:

Ans 1. Form factor
v 2. Peak factor
#< 3. Mean value
< 4. Average factor

Question ID : 8161613930
Status : Answered
Chosen Option : 2
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Q.100 The stator of a split-phase induction motor has two windings, the main winding and the auxiliary winding. How are
these windings displaced in space by electrical degrees?

Ans X 1. 60°
X2 30°
X 3 45°
W4 90°

Question ID : 8161613956

Status : Answered

Chosen Option : 4
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